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QUESTION 1

How should an administrator assign a user the Administrator permission without encryption-related rights? 

A. Grant the user the Virtual Machine Power User role 

B. Grant the user the No Cryptography Administrator role 

C. Grant the user the Administrator role 

D. Grant the user No Access role on encrypted VMs 

Correct Answer: B 

 

QUESTION 2

Refer to the exhibit. 

A user requires full privileges on all VMs and templates in the X-Lence Datacenter except AX-1000. This 

user must not be able to view or change the AX-1000 VM. 

Which two permissions for this user should the vSphere administrator define to achieve this? (Choose 

two.) 

A. Read Only role on AX-1000 

B. Administrator role on X-Lence Datacenter 

C. No Access role on AX-1000 

D. Read Only role on X-Lence Datacenter 
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E. VM Power User role on X-Lence Datacenter 

Correct Answer: BC 

 

QUESTION 3

A customer is experiencing a network performance problem and is using the esxtop utility to determine the 

cause. Esxtop reveals no dropped packets. 

Which two conditions should the customer check? (Choose two.) 

A. packet size 

B. data receive rate 

C. IPv6 support 

D. CPU contention 

Correct Answer: BD 

 

QUESTION 4

What are two requirements to deploy VMware Site Recovery Manager? (Choose two.) 

A. vCenter Server installed at the protected site and at the recovery site 

B. Identical storage at the protected site and at the recovery site 

C. host-based replication through vSphere Replication or preconfigured array-based replication 

D. identical vCenter Server versions installed at the protected site and at the recovery site 

E. identical ESXi versions installed at the protected site and at the recovery site 

Correct Answer: AD 

 

QUESTION 5

What could a vSphere administrator use to move a group of VMs to another port group? 

A. Network I/O Control 

B. IP hash 

C. Network Port Binding 

D. vSphere vMotion 

Correct Answer: C 
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